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QUESTION 1

Consider the following code:

c=cripk type
var HighHum

1f (HigaHum =
cszcriat

"textsjavascript
Egiwinduw.alert{"HellD"};}Else{winduw.alert("GDDdh?E");}
What is the expected result when you run this script in the browser?

A. A window alert box will display Hello.

B. A window alert box will display Goodbye.

C. No window alert box will appear because there is an error in the code.

D. A window alert box will display Hello then a second alert box will display Goodbye.

Correct Answer: A

QUESTION 2

Which script block will display Hello World in the browser when the script is run?

A. var message = "Hello ";var message2 = "World";document.write (message + message?2);
B. var message = "Hello ";var message2 = "World";document.write (message and message?2);
C. var message = Hello ;var message2 = World ;document.write(message + message2);

D. var message = "Hello ";var message2 = "World";document.write ("message + message2 ");

Correct Answer: A

QUESTION 3

Which choice demonstrates the correct syntax for declaring a variable?
A. var last name;

B. var andlastname;

C. var "lastname”;

D. var lastName;

Correct Answer: D
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QUESTION 4

Consider the following code:

<html:

theac:

‘s hesd:

<bodx

<p:Wkat's your favorite fruit?<sp:

wforn name="mnyForm" :

<{input type="radic' name="rdoGroupl" id="optl"
{input type="radic" name="rdoGroupl" i1d="optz"
¢inpit tywpe="radic" name="rdoGroupl" id="opt3i"
< hocy:

<shtmle

walue="4pple"rApple <br-:
value="0Orange" < *0Orange <{br:
wvalus="Fear" - :Pear <(br. >

Which statement could be used to determine the value of the first radio button?

A. document.rdoGroupl.value

B. document.myForm.rdoGroup1[0].value

C. document.getElementByld(rdoGroupl).value
D. document.getElementByld("rdoGroupl").value

Correct Answer: B

QUESTION 5

When using AJAX, what is the purpose of the XMLHttpRequest object?
A. To transfer an XML document to the Web server

B. To request data from the Web server strictly in XML format

C. To read and write to an XML file stored on the local machine

D. To request either XML data or plaintext data from the Web server

Correct Answer: D
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